
71. Passamezzo zorzy Bernhardt


1)



























    







  
  



















5 












2)







  
  







  
  


































10 





































































  
  

15

3)







  
  




















     







    








 
 




20 






     


















4)










































5)













25 

















 








 

















 








 






























PL-Kj:Uniwersytet Jagiellonski mus.ms.w510 (c1565), f. 37v. Encoded and edited by Sarge Gerbode.

5) d in orig.
4) Note one course higher in orig.
3) Rhythm flag double value in orig.
2) Note off edge of page supplied by editor.
1) Rhythm flag double value in orig.
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2) 2 rhythm flags ½ value in orig.
1) No rhythm flags in this bar in orig. Same in bars 39, 48, 51.


